Mudflaps rear
AUDI Q7, 2015->

2x gy - original screw

Ix = - metal bracket

~
~

’ =5 | The bracket is installed

< on the standard fender guard

S oA

~]

€

Installation

2x @y - original screw

Ix @@ -screw ¢4,2 x 16 mm
«@) - screw @6 x 15 mm
(&%) - spring washer

Art.: EXP.NLF.04.01.E13

Set package >

Mudflap - 2 pcs. Spring washer - 2 pcs. (TL-048)
Screw @4,2 x 16 mm - 2 pes. (TL-028) Metal bracket - 2 pes. (TL-026)
Screw @6 x 15 mm - 2 pes. (TL-021)




